20244 FEI5HE 2024%9A23H(A) 8KF10 ~ 9KE554  (LERN454)) AENEIRT - Exs
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
eld 23— 0 1 1 3 2 0 7 10 3
| ESv vy RILR 0 0 0 0 4 1 3x 8 13 2
[ MvPaT®) | EES 2E 8
| #==71 [ - | | | | | | | |
[ MvPEF | KERKX HEE
| msgFr | =B 15288 | -7 | - [ w—rF ] - \ \ \ |
BF KERK 1-1 BiE 5 6-3
H|FEEF £ER BBF 1-1 E&RF 5-9 BEBF 6-1
HW: XaA—LX
TIIE 280 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 % & &2 & ™| & % #H=X
1 B} BFE ER A& R 3 2 .399
2 B4R M | BE6F R LBk 2 .206
3 Al ERER | PR = R 3 120
4 Rk 55 ==n JEEBK = 2 1 .397
5 &g 5 =iR FR (2) a2 3/ 2 2 1 1 371
6 NGRS PaEk ‘IO am 2 11 .307
7 &l KAk 23 (1) OBk =iR 2 1 11 1 .300
8 = a0 —=n —o 3 298
9 EE K— ax F2 2| 2 1 .343
10 Sl BE R = 201 248
11 L 1E—BB ®an ®an 2 143
12 A B ==n uzkse 1 1] 2 331
13 1k B4 —% (1) Bk 2| 2 1 1 228
14 KERK kE bl 2 237
TOTAL| 31 | 10 41 2] 3] 4] 3 288
B ESYyYRILR
I8 ABFITE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BRE | T R AR M & BEER
1 EiT#E ER —an k& .S XERK
2 HiT#E =R E& oo #ano 5 24 7 |2 1] 3 245
3 EiT#E PUEk —f# F2 ER Big 5 (8
4 &% |—ono iz iz ER 12/3(13. 6 |1 439
5 i & =ik LBk BR Q)
6 HiTE LETR 2 (2] Z#®
7 i & = BT ER
8 EE & h2 () =@ [ T T T T T ]
9 A& =an ==n ek
10 Bi1% B 2 A LT L]
11 EiTE G F A%
— | T T T ]
62/337 13 | 2/ 1 4 317




